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Hel - lo  there bud-dy on the night shift I
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hope you slept all day un-til the moon came out__  and  woke you up__  And
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sent you on___  your way Hel - lo  there bud-dy on the night shift I
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hope you're feel - ing fine. I left a lot of work for you to do__ on a
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long as-sem - k?y line I wish I knew you bet - ter But you
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ne - ver go my way For when  one of us  goes on the job  the
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oth - er hits the hay Good bye now bud-dy on the night shift And
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push those planes a - long And when thr sun comes out__  I'll tke your place all
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wide a-wake and strong I' fol - low you__  you'l fol - low me__  and
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how can we go wrong?
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I wish I knew you bet - ter but  you
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nev - er go my way For when one of us  goes on the job  the
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oth - er hits the hay G&%d - bye now  bud-dy on the night shift
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And push those planes a-long_ And when the sun come out__ Il take your place all
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wide a - wake__ and strong I'l fo - low you___ you'll
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fol - low me__  and how can we g0 wrong?



